’»') (1=x)x 3” - 23’ * Zd= 0
| P(x.-o):o 5‘“"“5“‘2‘“ ro;Jr

%-
y'=
g-

Han %=
Axso XQ 2 =% < -2
P x(1-x) .
} - X200 W ar&rﬁw MJM—M/

'L-'X-)ﬂxz =0
Y x('x) i
= X Zﬂnx ﬁx +A>< +A;x°‘”4A3 +4,, ans

fzo
= AQO"(M-'-F A,(Dlu)x + Az(wz)x + A3@(+3)X + AL,(MV)X +3:1~.,,

4 Ay (da2) (set1) x4 M(m;)(w»z)x.‘“'-u A.,(aw)(«a)

o(+}
-+ o

o+2
X oo s

Tp, qe X A,(o(u)a&)(“-, |
o A3(o(+3)(d+z)/¥'mf+ J’/-).,(xw)(ous)x

g = Dol X o A G x4 A, (rdas) X
-y - Bonlex” < A o) XN A ) )T A3 ) X
R N N T L7 TS e T N o(+3)x°“'2 — 2 Ay )X P
rly = 2 0% + A x ™ S 2A, x4 2 A, % L

0 = on«"'[x(a-.)—zx] + {P\I[@u)m.z(m)]- [u “"\*z]}'**- {Al[an)(x-n) 2(o<+z em 2}

+ {A [(»U%)(an)-zurs)]-Az[@uz)(«u)-l]f “, {A.{«w (w+3) - oH-V)] ASZ““X“*L) g;g

i, B=0 o o W20 = A3 d d=0 .'f R,20 d sy Hp = A B, . =0

;5 A,4 0 Yo An = A, ([o(-m-;] [«-m-z]-?_) 2 Ay, Gan)(oen -3) =My, 3l
(+n) (w+n ~3)

() (¥ n=1) = 2 (x+n)

so :5 w=0  -2h, +24,20 A=A A
‘ZA;"’ZA‘ =0 AzzA\=AO
0By - A0S0 By s awything
IPA,J - AB'LJ =0 AH =.A3
lo A = oAy =0 A= Ahy adsom = Y= h Ex
;6 °(z=3 %fm"’:ﬁ?_: 'Z‘V%XM} s“‘:‘“‘ ‘N “\\-3 =
hso ~ 0
g, - a3|ﬂ~xlxl LR "y ‘jz agllmlx +0¢3|/ + 520’
W=e n y
, oo 4y =04, bkl 4y, - WYy * jza

(1-x)x ‘jz - 231 +23 xo.3 lmlx) 3 (l~i())( Zaj/ w-(:»x)xatj'/,. +{)- x)sz -7_0% IMP(\ 24‘5‘/ -zyza

!
o} ijl »qum - \/x+ ay, —Zgha

2 <;| .-'X)m’- ‘j\(:;x_) '
X






